
Matma na 100

Poziom trudności: Średni

1. 638+236=

A - 874

B - 222

C - 10201

D - 880

2. 3:1=

A - 2

C - 1

D - 3

3. 1021+16=

A - -22

B - 1036

C - 1037

D - 1111

4. 5 razy 234=

A - 4355

B - 1170

C - 2222

D - 1111

5. 250 razy 6=

A - 1510

B - 1500

C - 1490

D - 1505
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6. 12*6+2*8=

A - 90

B - 89

C - 88

D - 79

7. 222+333=

A - 555

B - 655

C - 455

D - 500

8. 2+3= 2 działania 13+36=

A - 5,50

B - 5,49

C - 6,49

D - 6,50

9. 2*2+2*2+2=

A - 9

B - 10

C - 11

D - 14

10. 1456+9807=

A - 11200

B - 11234

C - 11263

D - 11111
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Matma na 100

Poziom trudności: Średni

Karta odpowiedzi

1. A

2. D

3. C

4. B

5. B

6. C

7. A

8. B

9. B

10. C
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